
	miRNA Vector
	n

(no of replicates)
	p
(Compared  to vector)
	p
(Compared  to mir-181a-1)

	Vector
	84
	-
	< 0.0001

	mir-181a-1
	84
	< 0.0001
	-

	mir-181c
	84
	0.092
	< 0.0001

	mir-181a (c stem)
	60
	< 0.0001
	< 0.0001

	mir-181c (a stem 1)
	60
	<0.0001
	< 0.0001

	mir-181c (a stem 2)
	36
	0.699
	< 0.0001

	mir-181c (a stem 3)
	36
	0.335
	< 0.0001

	mir-181a(Pre-181c)
	36
	0.494
	< 0.0001

	mir-181c (Pre-181a)
	36
	< 0.0001
	< 0.0001

	mir-181a(c loop)
	36
	0.057
	< 0.0001

	mir-181c(a loop)
	36
	< 0.0001
	< 0.0001








